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IRECTIONS TO CANDIDATES

Theere are FIVE () questicns

Adsempd all quesiions

Baoard Approved caloalatcss may by wsed

itart @ NEYW BOOKLET for sach question

Al necessary working should be shows in every guestion. Marks may be
deductied for corelessly or badly armanged wark.

An Inbegral sheet is provided with this paper
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i) Solve the mequality i 1
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() Use the substitution u = 1 +1, to find hfﬁ‘#

Quesisan Two (13 Marks) START A NEW BOOKLET

(&) Inlegrate the follovwing:
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(=] (i) Exgwess Fooe - siadd, in the foom Beosfd + o, where & = 0
and & < i = B

{ii) Huance, solve Teorf- siefl = 5 for ° < 8 5807, givi
fance : . oy L , BivIng answess
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Question Thees (19 Marks) START A NEW BOOKLET Marks WOT TO Jehix)
! SCALE I
3] Given Fi2up, 3p”) and Qi2aq, aq”) e paints o the paraholn 1 = 4ay, /\ |
(T} Derive the equation of e tangest \o the parahola at P 3 oy N
{6} The sngent w P and the line through £ paralic] 1o the v - axis, ;|
intersect al T, Determine the co-ondénares of T.

[iii} Calculate the co-oidinaies of M, the midpeinn of PT, 1

{iv} Given pyg = -/, flad the equation of e oo ol b, 3 g
) Evaluste [b(x) e
3

(i} Calowdate the area enclosed by the curve ¥=Ax), pmd the x-axiz.

Ix' -1
Ax? 44

iE) Frove by Muthematical Indection, that 7 + 117 is divisible by 9, iFn js odd, 4
by (i) Differentiste j =

T ; v adc
) The dlagram below shows the surves v = x' < x ~ S and y= 5 +2. (i) Henee integrate ..rr_ﬂ_]:l'

(=) Pyl |5 o momic pﬂrmmidqrtpu4mh-=mur1mlmulmd-1.
Fiad ke z - co-ordizates i :
mudB. x ul'nmha; (i gjfmum-_w:::ﬂmqlmﬁndlmuquﬁmmwl

{il) Hence, if P = 33 wien » l-E.Endihsum'qlupn]mnrm'ﬂPﬂ;l.

(i) Henee, calcubate the anes enclssd () The region bousded betwesn y = 27— | 4ng i
by the ten curves. 3 “”“i-ﬂﬂmhmﬂmuﬁ:‘;ﬁl:mhm
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Question Five (11 Flerks) START A NEW BOOKLET rlnrks
{a) The diagram bedow, shows o cnzle with & chord PO and ancther 4
ehord RS, which is parallel oo the mngent a1 .
!qmmw“m
¥
{aestian Five cogtineed., .
o (e) The function f(x)=x' 1" -x-1 is shows below.
| . f
MNOT TG
P SCALE
HOT TO SCALE
Copy or truce the diagram ooto year pape : PE—
- —
Prave thet chand PQ bisects SRPS.  [HINT; constraction lines may be requined)
n&nmirmmhrm“mu#mr-dﬂ.mm E]
y = eds, Calculate the amount of waber seeded w fll te vass 1o
o depth of § cm.
(i) Using x = 2 as a first eppeosimation for f{x}=, use oo 2
applicalion of Mewlin's .
H#""-E I.n!::‘nitllllﬂlﬂt. method o find 8 Better approimasion
HWOTTD
HCALE
{5} Copy ar trace the diagram. Deseribe, In words
why 1= | i an vessitabile Girst appreocimas ;ﬁjﬁ_‘tﬂ;r-d:m'l-. 1
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